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e 1YL HW 14-9
5.;_1:}1 eatch of the 3 cades belew, colculate the “Diff* value &5 directed, and write a senfence explaining whar ]
“the “Rif§* volue meand incontext. Write the sentence for a general asdisncs.

1. &roup A B dieters lost on overcge of 8 pounds,
Sroup B: B nem-dieters lost an everage of 2 pounds over the same time period.
-:Fﬂﬁl!ll?m uné interpret ltsz";};hl mean of Sroup A minig the meon of Gooup B
"Dt - g-a=le [BS.
The § diettrs st an ag, of (o /bS parc Han 776 ¢
. ﬁﬂr‘;-—dff:‘f’.ﬁ,j.
2. Group A: 11 studeats were an overage 04 seconds 'ﬁﬂ in thair 100 meter run times af ter
foliowing a new training regimen, .
erp B 11 shudents were on auerage 0,2 seconas E im their 100 mefe run times af fer not
following amy rew training regimens,
-::al-:.uhj_[‘;:rﬂa llmd inrer'ﬂc'r "Diff” 5 the nt:;:.ri af Sraup A mirus the meen of Sroup B,
RPNl g CN I
™, . y i o F 7 1 2 - &:}
L srud. fooving nad frainind 1GImes AT o, arg. ¢

Fallawiind Hh :n_hl,ﬁf].«ﬂmuﬂ
3. anupﬂ:iﬂsmhmuthmbuﬂgrgmsﬁ'mllrr Tz‘dfi fes angverage wai tef13

paunds,

Group B 20 squash that have been grown ina nan-irrigated Tield have on average waight of 1.2
paunds.

Celeulate and inferpret "BEE" = mean of Group A minus the mean of Group B,

u_"bl.H:H-_ lLi=lLa=./ Ifbj o , ,
A0 -;_kjtﬂﬁi :?i[!ﬂ'ﬂ In an J;H'r'gd"%fe'f ‘Fhffd HvE AR 'ﬁf Vyj:}:”f:fg; '
/ ol QIO by & PN FEET ]
1 os ights Hhon Fhe 20 8§50 g
feld.
4. Lsing the randomization digtribution (ef 100 valoes) shown below, what iz the prebability of
nbtaining @ “Iif f* value of -0.6 or le2s?
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CH, Would a "DNf " value of -0u6 or lees be congidered a "shatigtically significant gif ference™? Why ar
why noi?

M) —dp s+ foar o O ardl pobdbilily of
Obtaining ¢ i olve o —lo w Jesi 1 87,

= Iy

6, Using the randomizotion digtributicn shomm cn the athers gide, whet |9 the probability of ebtaing
o "Diff” value of -1.2 or less?

-l:'_ﬂ—— o = (o9
ik Ol =17

7, Would a *Diff" value of -1.2 oF ledd be corgidered a “statistically slghificant difference™ Why or
why not?

Ve poibly. —l.a far fam 0 and pob.

i gy I alve oF —fea ar el A
nF obiginieg o "M i

an fj o
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QUIZ

Make-up quizzes in the Test Center.
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1. Ayva designed an experiment to determine the effect of a new energy drink on a group of 20
volunteer students. Ten students were randomly selected to form group 1 while the remaining 10
made up group 2. Each student in group 1 drank one energy drink, and each student in group 2
drank one cola drink. Ten minutes later, their times were recorded for reading the same
paragraph of a novel. The results of the experiment are shown below.

Group 1 Group 2 cﬁ&_

(seconds) (seconds)
17.4 233
18.1 18.8
18.2 221
19.6 12.7
18.6 16.9
16.2 24.4
16.1 21.2
15.3 21.2 ' _e = - - = L}
17.8 16.3 b\{ N \6\ ) \ }
19.7 14.5

Mean = 17.7 Mean = 19.1

Using the given results, Ayva randomly mixes the 20 reading times, splits them into two groups of
10, and simulates the difference of the means 232 times.

Simulated Differences
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Ayva has decided that the difference in mean reading times is not an unusual occurrence. Support
her decision using the results of the simulation. Explain your reasoning.

\ﬂ\L : "/'"I' w» /vub’f ML,U.MLJ -b/C.. Yhalt~
vmxﬁ\ba{)@w oy up ~I0.3% by ohencl
adlsal.
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2. Jennifer is comparing sample means from tweo groups of 20 students invelved in a controlled
experiment. Her sample means have a difference of 568. Jennifer uses simulation software to
randomly assign the 40 data values from the experimesrﬁ to two groups and find the difference
between their averages. After repeating this process 100 times, the differences between the
sample means generated by the simulation software approximated a normal curve with an average
difference of 0.4 and a standard deviation of 2.7, Based on the simulation, there was only 1

difference of 5.9 or higher. Is a difference of 5.9 between their averages statistically

. significant? J'us’ri'F\,ryour answer. . =/%
F A SNt ”’“aj //00
W %w Mmm \\o& - A ﬂ;/

%W ®

dg/ cT=4%* alad = (-5, 5.8)
= qu .(D W W C"z
o stal. Slgn.
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3. Itisknown that 64% of the people in Kyle's town went to see a movie in the last month. Kyle
uses simulation software to generate the results of 100 random samples of 50 people from his
town using the known population proportion, 0.64. For simplification purposes, Kyle organizes the
sample proportions, rounded to the nearest even hundredth to make the data easier to work with,

in a frequency table. & Ly . Lo
Sample Proportion | Frequency
a. What are the mean and standard deviation of the sample 42 1
proportions, to the nearest hundredt % 46 1
Sted— Cade- War Skt Ly, L 52 :
.54 4
X = .5 58 6
SX = .0 -7 .60 )
b. Caleulate a margin of error to include proportions two 62 14
standard deviations above and below the mean. .64 13
— — 66 12
me = &(.07) = .14 :
.70 11
72 4 |
¢. Kyle samples 50 people in his town and 73% of them saw 74 ﬁ:
a movie in the last month. Could this result happen by 76 3 \
chance or did Kyle sample a group that does not 78 4 /
represent the population of his town? Justify your 82 2

answer. @z_")?)
oo =15 hod o o 1 73mm@4\“
The w och@OCO W%d Thao

e«ww»

ralon)~(.3l, 7?)

‘JCMMWWM‘M



Day 10 More Inference Practice.notebook May 16, 2019

4. A study conducted in 2004 in New York City found that 212 out of 1334 participants had
hypertension. Kim ran a simulation of 100 studies based on these data. The output of the
simulation is shown in the diagram below.

12
=
)
c
3 6
g
w
0 -

0.13 0.1¢ 019,016 007 0. 0.19

Proportion of Successes

At a 95% confidence level, the proportion of New York City residents with hypertension and the margin
of error are closest to

roportion # .16; margin of error ~ .01 qSL
@mporﬂon & 16; margin of error & .02 e *o =z
proporfion # .01; margin of error ~ .16
4 proportion » .02; margin of error ~ .16
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